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The Ansv‘rer Sheet is inside this Test Booklet. When
You are directed to open the Test Booklet, take out the

Copy carefully with blue/black ball point pen only.

The test is of 3 hours duration and the Test Booklet
contains 180 multiple-choice questions (four options
with a single correct answer) from Physics, Chemistry
and Biology (Botany and Zoology).
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Each question carries 4 marks. For each correct
response, the candidate will get 4 marks. For each i

incorrect response, one mark will be deducted from the i ;5
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total scores. The maximum marks are 720.

Use Blue/Black Ball Point Pen only for writing
particulars on this page/marking responses on Answer :

Sheet.

Rough work is to be done in the space provided for this
i 16.

purpose in the Test Booklet only.

On completion of the test, the candidate must hand
over the Answer Sheet (ORIGINAL and OFFICE
Copy) to the Invigilator before leaving the Room/
Hall. The candidates are allowed to take away this

. Test Booklet with them.

The CODE for this Booklet is “45”, Make sure to
enter this code in the OMR answer sheet.
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Do not open this Test Booklet until you are asked to do so.

4 5 This Booklet contains 32 pages, including Rough Page,

The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
clse except in the specified space in the Test Booklet/
Answer Sheet.

Use of white fluid for correction is NOT permissible
on the Answer Sheet.

Each candidate must show on-demand his/her
Admit Card to the Invigilator.

No candidate, without special permission of the centre
Superintendent or Invigilator, would leayve his/her seat.
The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the

Invigilator on duty and sign (with time) the Aftendance

Sheet twice. Cases, where a candidate has not signed
the Attendance Sheet second time, will be deemed
not to have handed over the Answer Sheet and dealt
with as an Unfair Means case.

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by all Rules an
Regulations of the examination with regard to the
conduct in the Examination Room/Hall. All cases ¢
unfair means will be dealt with as per the Rules and
Regulations of this examination along with Public
Examinations (Prevention of unfair means act 2024).
No part of the Test Booklet and Answer Sheet shall
be detached under any circumstances.

The candidates will write the Correct Test Booklet Code
as given in the Test Booklet/Answer Sheet in the
Attendance Sheet,

If a candidate marks more than one answers for a
question in the OMR Sheet, it will be treated as
incorrect and negative marking will be applicable.
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Consider a water t'mk; shown in the figure.
It has onc wall at \*ﬂ L and can be taken
to be very \\'ldc 111 the z dircction,
When filled with a llqtjnd of surface tension S
and density p, the liduid sulrfncc makes angle

iy

18 .
00 (0o <<1) with the x-nxis At x = L. If y(x) is

the hcmhl of'the su:f‘acc lhcn the equation for

x) is :

Y]

.

o

S |4,

g

)

(take @(x)=sinB(x) Q{jtane(x)--—, g is the

. )
acceleration due to gtavity)
5RO _
2 2
d°y _pg @~y PE ...
1} =—=====x 9 ===y
) 2 S E”? a2 S

dzy_ PE 4) d_y= _P_g_x-

) U i VS

3

"R |

203

A mtcroscope has an o'f:%]ectwe of focal length
2 cm, eyepiece of foca] length 4 cm and the
tube length of 40 cm. If’the distance of distinct
vision of eye is 25 cmézg]e magnification in the

microscope is

(1) 100 (2) 125
c:: T—

(3) 15{} (4) 259:':'{:5 R

e

45_English |

An electron (mass 9x1073! kg and

charge 1.6x10~19C) moving with speed ¢/10g
(c= *;pccd of Ilght] |§ injected into a magnetic

ficld B of magmtfic&: 9%10~4 T perpendicular

to its dlrcclmn orrfmatlon We wish to apply an
..._3.
uniform clcclrlc field £ togcther with the

magnetic ficld so;tl]at [hc electron does not
deflect from its path., icn (speed of light
c=3x108ms 1) o

—
(1) E is perpendicular to B and
its magnitude is 27x10% V nr]
- o
(2) Eis pcrpcndléular to B and
7 its magnitudefis 27x102 V m~!
%0 S
3) E is parallel ‘to B and
its magnitude™is 27x102 V m™!
3 1u
- 3 =)
4) Eis parallel‘tcr B and

its magnitudefis 27x104 V m™~
o B0

There are two inclined sﬁrfaces of equal length
(L) and same angle.of inclination 45° with the
horizontal. One ofithem is rough and the other .

_ is perfectly smooth.A given body takes 2 times

as much time to sllde down on rough surface
than on the smoutl@urface The coefficient of

kinetic friction (uﬁ between the object and
the mugh surface fs lose to

(1) 0.25 qu) 0.40 o ”,55
(3) 0.5 4 0.75

The kinetic encrgles of two similar carsAand

‘Brare! 100 J and?25J respectively. On

applying breaks, car A stops after 1000 m and
car B stops after 1500 m. [f'F; and Fg are the
forces applied by the breaks on cars A and B,
respectively, then the ratio F/Fp is

: iy
OIS O

1 1
(3) 3 4) P)

[ Contd...
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The current passing through the battery in the
given circuit, is:

) 054
1.54

(1) 2.04
(3) 2.54 FZ)

A bob of heavy mass: m is suspended by a light
string of length /. The bob is given a horizontal
velocity vy, as shown j_ngf'gure If the string gets
slack at some point P-mhaking an angle @ from
the horizontal, the ratio of the speed v of the
bob at point P to its initial speed v, is:

1) (sin6)s

L VM
Q |———| m
2+3sinB o
_ 2
: cos © \%E:Q
(3) ——— ‘-.31
2+3sin@ Ty
e |
1

4 sin O A.—g

® 27350

45_English ]

8

10

The output (Y); of the given logic
implementation is/similar to the output of
gatei

)

1

s |

an/a

A——
Y

(1) AND @ NAND

(3) OR 2(4) NOR

L
LY

The electric field Ijl'} a plane electromagnetic

44

wave is gweﬂ by sl
E. =60cos (5x+1.§§1091‘)1’fm-
Then expression for the corresponding

magnetic field is (ﬂ}gcre subscripts denote the
direction of the ﬁcld}

o
(1) B, =2x10 pj{5x+l5x109!)f
» g"g}

2 —7'% 9
(2) B, =2x10""cgs (5x+1.5x10°1)T
s
() B, =60cos (53'+1.5x10°NT
4) B, =60sin (5x+1.5x10°NT

vy
()
P

A ball of mass 0.5 K@ is dropped from a height
of 40 m. The ball!‘htts the ground and rises
to a height of 10 m The impulse imparted to
the ball during its CO!IISIOI‘I with the ground is

(Take g = 9.8 m/s?)~

(1) 2INS (2) 7NS

. i

3) 0 "(4) 84 NS

[ Contd...

-~ www.medcollegedarshan.com



11

Med College Darshan

AB is a part of an clectfical circuit (see figure).
The potential di[‘l‘cr{:%c “V, = Vy", at the
instant when current 13 2 A and is increasing
at a rate of 1 amp / sé@nd is:

i

A .H_ﬂﬂ)‘)“'h E—e Ao
1]__1 E | : 2Q B

12

13

5V i

(1) 5volt

vy
3
€
(.
oI
;«.‘q‘-:
(EY
k)

A 2 amp current is'flowing through two

(2) 6 volt
(3) 9volt

(4) 10 volt

different small circular copper coils having .

radii ratio 1:2. The ratio of their respective

o
magnetic moments w%!-l; be

(1) 1:4 @ 1:2
3) 2:1 ‘(4} 4:1
T3]
g

In a certain camera,yaj combination of four |-

similar thin convex lenses are arranged axially
in contact. Then the powcr of the combination
and the total magmﬁcartion in comparison to
the power (p) and magmf' ication (m) for each

lens will be, respectlyeI'y -

T

e
(1) 4p and 4m 0}
2) p?*and4m . T-“:

-

(3) 4p and m*

4) p*and m*

45_English ]
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15

16

An oxygen cylmder of volume 30 litre hy
18.20 moles of oxfge" After some oxygen is
withdrawn from- thc cylinder, its gauge
pressure drops toilf atmospheric pressure g
temperature 27°C.-The mass of the oxygen
withdrawn from ihe cylmder is near]y equal
to: - if; o
i, L £r3;
[Given, R = %ﬂ- Jhol'K-1, and

molecular mass of O, =32,

1 atm pressure = ;01 x 105 N/m]

(1) 0.125kg 7 (2) 0.144 kg
. fos -
(3) 0.116kg €3 (4) 0.156 kg
43
1‘_;? :

P i i o -
In some appropriattg Units, time (f) and position
(x) relation of a movmg particle is given by
t=x2+x. The acce[eratlon of the particle is

T 2 ah _ ___2__
- 2. sy
ﬁ}

2 el
+ *c;,%
3 +
£ (x+1) ( ) 2x+1
C Erm_ é{‘,% ]
Gl S v
A ot

To an ac powér supply of 220 V at 50 Hz, a

_ resistor of 20 Q, a capaclt_or of reactance 25Q

and an inductm;“"pf reactance 45Q are
connected in serles The corresponding current
in the circuit and the phase angle between the
curre

nt and the voé_!it;?ge is, respectively -

(1) 7.8 A and 300

¥
(2) 7.8 Aand 4594
(3) 15.6 A and 300
(4) 15.6 A and 450

[ Contd.-
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17 The Sun rotates around its centre once in | 20 The plates of a parallel plate capacitor are
27 days. What will be the period of revolution separated by d. Two slabs of different dielectric
if the Sun were tor expand to twice its present i} d
radius without any éxternal influence? Assume constant K and K, with thickness Pd and 5
the Sun to be a sphere of uniform density. respectively afd Inserted in the capacltor. Due
1,0 ? : s i times
1) 100d by to this, the cdpacitance becomes two
@ L “s ) (2) 105 days larger than wher there is nothing between the
(3) 115 days (4) 108 days plates. \O
x I3 H; . | If Ky = 1.25 K5} the value of K| is : E‘%fff
. m 266 W (2 233 2L g,..

18 A model for quantized motion of an clectron ;—3
o-
'//I

in a uniform magnetic field B states that the
flux passing through the orbit of the electron Lt o

”Tir

3) 160 T, (4) 133

is n(h/e) where n.is an integer, 4 is Planck’s

constant and e is the magnitude of electron’s 21 Ewo cities X andiY are com[mcted by a regt;]lar
charge. According to the model, th . us service with a bus eaving in either
m()mgem ot ai eige-'atron i 78 lowi;?agnetlc direction every T min. A g:rl is driving scooty
. L I b - 4 with a speed of 60 km/h in the direction X to
state will be (m ls’ft,}}e mass of the electron) Y notices that. a bus goes past her every
he . B f; he. 30 minutes in {he direction of her motion, and
{ly =38 Bl every 10 mmutes in the opposite direction.
W Ak B S Choose the correct option for the period T of
heB v the bus serwce and the speed (assumed
) e 4) heB constant) of the ‘buses.
7 nm 2ntm
(1) 9 min, 40 km/h
19 Three identical hqat conducting rods are (2) 25 min, 100 km/h
connected in. ser:egﬂas shown in the figure. The ' R
- rods on the sides haye thermal conductivity 2K (3,) 10 min, g&]kmm
while that in thé middle has thermal 4) 15 min, ]%"(’? it
conductivity K‘*ﬁThe left end of the e
combination is mamtamed at temperature 37 I:E;
it T The rods are thermally' '
SRR S a i 4 22 A uniform rod™ f mass 20 kg and length 5 m

insulated from outside. In steady state,
temperature at the left junction is 7} and that
at the right junction is T,. The ratio T}/T, is

45_English ]

leans against a‘iooth vertical wall making an
angle of 60° with it. The other end rests on a
rough horizontal floor. The friction force that
the floor exerts on the rod is

€ v 3
g ea ;j (take g = 10 mf3?)
st A 2k | R | BT - 4
7 oo Z () 100N ©
A LI D e
. wand ‘j
. 5 ﬂ i () 10043 N‘.\::'?,
§ i i
z Sl < :
M 3 v 3 ® 200N
3 3 , 4 @) 2003 N
P
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In an oscillating spring mass system, a spring
IS connected to a box filled with sand. As the
box oscillates, sand leaks slowly out of the box
vertically so that ’lj'l;b average frequency m(f)

L
and average amplitude 4(7) of the system
Cl1a§1gc with time £-Which one of the following
options schematically depicts these changes
correctly? i)
L
b

A

()

1
( ,) A —2

o(7)

Y

) A1)

-
.

&Y033|

\

w(?)

-
%
LY
\
—

e

{7
£y

P
>

e |

(1)

U

A

YR}
i}

A J

:

v

45_English ]
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A balloon is made of a material of surface
tension S and its inflation outlet (from where
gas is filled in Ef):has small area A. It is filleq
with a gas of dgb:sity p and takes a sphericg|
shape of radius R. When the gas is allowed (o
flow freely out !q[: it, its radius » changes from
R 1o 0 (zero) in time T. If the,speed v(r) of gas
coming out of'{h?. balloon,depends on r as y«

i
and T oc 59AP g RS then .

' o 3
(1) a=gpre=zh=-bipHlLo=
@ a=-
@) a=-

1
@ a=5% %
iy _
Consider the diameter of a spherical object
being measurediwith the help of a Vernier
callipers. Suppose its 10 Vernier Scale
Divisions (V.S.D.) are equal to its 9 Main Scale

Divisions (M.S.D.). The' least division.in the

M.S. is 0.1 cmgand the zero of V.S. is at
x=0.1cm whc‘%the jaws of Vernier callipers
are closed.
If the main scale, reading for the diameter is
M =5 cm and’the number of coinciding
vernier divisioq_.jis 8, the measured diameter
after zero error, correction, is .
(1) 518cm 7 (2) 5.08cm

L
(3) 498em i (4 5.00cm

A parallel plate capacitor made of circular.

plates is being charged such that the surface

charge density on its plates is increasing at a

constant rate with time. The magnetic field

arising due to d&placament current is :

(1) zero at a]!@acas

(2) constant between the plates and zero
outside the;plates

(3) non-zero eyerywhere with maximum at

the imagiqary cylindrical surface
connecting.peripheries of the plates

(4) zero between the plates and non-zero

© 7/ outside

[ Contdc-'
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An unpolarized light beam travelling in air is
incident on 1 mccél;u{m of refractive index 1.73
at Brewster's .-.mglc\. Then-

it}

(1) reflected light is completely polarized and
the angle oftreflection is close to 60°

(2) reflected. hg1ft is partially polarized and

the angld oﬁg flection is close to 30°

(3) both reflbcted and transmitted light

» are perfectly-polarized with angles of
reflection and refraction close to 60° and
309, respectively.

transmitted ight is completely polarized
with angle o@wﬁactlon close to 30°

3

=
Two identical chirged conducting spheres
A and B have tlg;mr centres separated by a

C)

certain distance. Charge on each sphere is q |

and the force of reéulsmn between them is F.
A third identical uncharged conducting sphere
is brought in contact with sphere A first and
then with B and finally removed from both.
New force of rcpulsmn between spheres A and
B (Radii of A and B are negligible compared
to the distance. Qf separation so that for
calculating force between them they can be
considered as pO@écharges) is best given as :

(1) d kj? -(2) =L
P ‘Hg’% —

F = 3F
(3) = =4 (). 3

d

A container hasgtwo chambers of volumes
¥V, = 2 litres and ¥ = 3 litres separated by a
partition made oﬁa thermal insulator. The
chambers conlamswl = 5 and n, = 4 moles of
ideal gas at pressures p; = 1 atm and
Py =2 atm, respectwely When the partition is
removed, the mnggure attains an equilibrium

pressure of : ot
(1) 13am 71 (2)
3) 1.4 atm @

1.6 atm
1.8 atm

45_English ]
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32

33

A particle of mass m is moving around the
origin with a constant force /7 pulling it
towards the origin. If Bohr model is used to
describe its mdtion, the radius » of the nth orbit
and the particlé’s speed v in the orbit depend
on n as _ Ifﬁ )
(2) Joc H”:;’fjv or n2:‘r3
A
(3) rocn23dvanl/3
The radius of Martian orbit around the Sun is
~ about 4 timés“the radius of the orbit of
Mercury. The Martian year is 687 Earth days.
Then which ofrhe following is the [ength of
1 year on Merc;ﬂry ?
(1) 88 earth days
(2) 225 earth:dpys
_(3) 172 earth days
(4) 124 earth days
£y
A body welghsﬁs N on the surface of the
earth. The gravrtatlonal force experienced by
the body due tothe earth at a height equal to
one-third theiradius of the earth from its
. surface is : gy
() 16N ¥ (2. 27N
(G) 2N ™ (@) 36N
e
A wire of resistance R is cut into 8 equal

pieces. From these pieces two equivalent
resistances arg’thade by adding four of these
together in patallel. Then these two sets are
added in series, The net effective resistance of
the combinationiis :

189

R ge v ! R

M & ff*’} @) 37
e

R _ R

9) 16 4 §4) s

[ Contd...
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34 De-Broglic wavelength of an clectron orbiting | 38 Which of the following options represent the
in the 17 = 2 state of hydrogen atom is close to variation of photoelectric current with property
(Given Bohr 1 :f{dnnm = 0.052 rnm) of light shown on the x-axis? ,
(1) 0.067mn °  A2) 0.67 nm M,
VY3
3 16? nm N (4) 2.67 nm
—— E-:' [ O e
’E P ) )
35 An ‘¢lectric dipole with dipole moment o E o LO
5;,2_5 X 1070 Cm isaligned with the dircction of a e = i 7
| *,? un:f‘orm clectric field of magnitude | A. E = " 14}
1° 1 4 % 105 N/C. The dipole is then rotated through : P g - ',r ‘l} -
,}OO y an angle of 609 with respect to the electric Intensity of light
\o© field. The change in the potential energy of the
p.E> dipole is :
{éi\o‘ﬂ‘&'ﬁ(l) 0.8 @ 1.07 o
a : 2 Py
310‘-‘ 3) L21] o (i) 1:5] E oy
) o 5 5
36 A constant v6ltage of 50 V is maintained g 5 o ,::_:
between the pGints A and B of the ¢ircuit B. é g o
shown in the figure. The current through the 0 - k™ =g
branch CD oftHe circuit is : Intensity of }igh, ‘_if‘
4 P |
| C &f ;‘“}
20 % )
B 5
40 'c. 88 i,
3 s 4 £}
0 7 o
bt " Frequency of light =
‘.l_ 1 E\D
"”'q'l
'Eﬁ S0V . _ N
1 : o 4
1) 154 1 (2) 204 s o =
(3) 254 ) 3.04 R
¢ S 3
Ry 2%
37 A photon and"an electron (mass m) have Sk > ™
the same ffenergy E. The ratio Frequency of light f-,"}
. (:] .
(?"pholon/)“elecnon) of their de Broglie "‘2
wavelengths is%{(c is the speed of light) (1) Aonly byt
U‘i a.r-.f
a VB4, 10 @ cJamE - @ Aandc -4
' -
— ::i L }3) Aand D : .
— 4y —.f° =
@B) ¢ E (:_Lc Am . 4) Band D j !
S S
- e N \ e
45 English ] ,_,:..ﬂzll'; "‘,__ 1/-;?' % [ Contd
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A sphere of radius R is cut from a larger solid
sphere of radius 2R as shown in the figure, The
ratio of the moment of inertia of the smaller
sphere to that of the rest part of the sphere
about the Y-axis is :

{7y

Y &)

Y

lféggéx :f

7 N\

31X

— s
===

IS8

3

i

o

7 «J

1) — Y

()8 ()wo

Ty

ks : z*‘-?

3) — 4) ¢~

) 37 ...( ) 64

A full wave rectifier circuit with diodes (D))
and (D) is shown in the figure. If input supply
voltage V, = 220sin (lggn 1) volt, then at
t =15 msec ol

el
=i

Ly
2

)
o O
{2

(1) D, is forward biaééﬁ:l, D, is reverse
- H W,

biased 0
(2) D is reverse biased, D; is forward biased

=
(3) D, and D, both are forward biased

(4) D;and D, both are reverse biased

45_English ]
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Two gases A and B are filled at the same

. . | . : -
pressure in separate cylinders with movable
pistons of radius 7y and rp, respectively.

On supplying an cqual amo;mt of heat to both
the systems reversibly undlér;constant pressure,
the pistons of gas A4 and’ DB are displaced by
16 cm and 9 ¢m, respectively. If the change in

their internal energy is the:-_SéJlmc, then the ratio

'3
A’ .

is equal to
Wry is cau

—
=

LA s I il o T
- il
L e ™

Sl &b

W 3 @ |
rd

b

=

2 :
@ @

Nl e I\J‘

. B s
;(‘13.':.-'

I |
LR

4Rl .
A physical quantity PLs related to four

i
observations a, b, ¢ and d.as follows:

P=a3b2/cJd

(&N

Ll
The percentage errors of measurement in a, b,
c and d are 1%, 3%, 2%, %12:1 4% respectively.

The percentage error in thg!quantity P is
- 1)

(1) 10% @ ‘2%.
@) 13% @ 15%

[ Contd...
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43 The intensity of transmitted light when a
polaroid sheet. placed)between two crossed
polaroids at 22.5° from the polarization axis

of onc ol the polaroid, is (1, is the intensity of
polarised light afler passing through the first

polaroid):
Io

(1) 5
Io

& =

W

-..:I
i A

k) "l’
0 .
2 2 —
5
1o
C) 16
s
L |
Y
LR ]

44  Two identical point tﬁ%“s\ées P and Q, suspended

5 . " -
from two separate massless springs of spring
¥ :

constants ky and kyrespectively, oscillate

. 2 LIS, i
-vertically. If their maximum speeds are the
™ :

I3 ;
same, the ratio (4/4p) of the amplitude Ag
of mass @ to the amplitude A of mass P is:

ky
M %
k

3) k—f

!

45 A pipe open at both

@ %
e, 2
L
8
L2

@ %
L3
g
v

ends has a fundamental

frequency f in air. The pipe is now dipped
vertically in a water drum to half of its length.

The fundamental frediiéncy of the air column
L4

is now equal to :

m L
3
o 2L

45_English ].
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47

48

10

The ratio of the wavelengths of the light
absorbed by a Hydrogen atom whey
undergoes n=2 o n=3andn=4 _
{ransitions, respcc?i}yicly, is

o s

(nH 36 :,'_1(2) 16
9]

| iy | (4) l

@ 3 0. 4
i

Which of the fol]dﬁ?.ing statements are trye?

A. Unlike Ga that has a very high melting
point, Cs has a very low melting point,

B. On Pauling s‘gale, the electronegativity
values of N and: Cl are not the same,

C. Ar, K*, CI-, Ca?, and 82~ are all
isoelectronic species.

'D. The correct ofder of the first ionization
enthalpies cf'ﬁ{%l, Mg, Al, and
Si is Si > Al if;Mg > Na.

E. The atomic rfa'—dius of Cs is greater than

that of Li and Rb.

Choose the correct answer from the options

given below :

(1) A,B,and E only
(2) Cand E onlypy
(3) Cand D only2

C (4
@) A,c,andEa@y

iy ]
Match List I with, _y.;st II

List I |
(Ion) =1
A. Co?t i 1
2+
B. Mgz+ i;»ill.
C. Pb (ML
D. A OV,

List II

(Group Number
in Cation Analysis)
Group-I

Group-III
Group-IV
Group-VI

Choose the correi:ﬁanswer from the options

given below :

(1) A-IIL B-1V, Gi1, D1
(2) AL, B-1V, Cal, D-II
A3) A, BTN, C-1, DI -
(4) A, B-IL, C1, DIV

3=
(e »°

www.medcollegedarshan.com
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Predict the major product ‘P* in the following

sequence of reactions -

(i) HB3F, benzoyl peroxide

- (i) Na (Hg)/C,1OH (Major)
(} ®<|1er

P
(N9

Q. ';.(l
(N "

CH Ml

-

CH, c
3) @ @ cH
I {_.;_..’
&
)
Energy and raduﬂ‘ of first Bohr orbit of
He* and Li2* :3 :
[Given Ry; =2.18 x10718], a; = 52.9 pm]
-
(1) E (L") = ~19.62x10-18 J;

r (L12+)— 17.6 pm

E (He®) = ~8.72x 10-18;
r,(He™) = 264 pm

E (Li?) = .-é";.j?‘le()—ls T;
R = 26"'5?pm

E (He") = —19f62><10“‘3J

(2)

t, (He") =17, 6.,'pm
(3) E@Li*hH)= -19.62><]0—“5 I;
r (Li2*) = 17.6 pm '
E (He*) = —8%2“0 153
EiFlet)- 26& pm
(4) E.(Li%*) =-872x10716;
r(L1AF)y= I7§§ipm
s Y —16 .
E (He') = —gszxm J;
r,(He*) =17.6 pm

a
W‘J- g‘}p
“Z

11

51

52

53

Which of the following are paramagnetic?

Ni(C0O),

[NicL, ] B

D. [Ni(ltzn)ﬁ]z‘

. [Ni(CN), ]2*

2. Ni(PPhy), "
4l

Choose the correctianswer from the options

given below: i~

(1) Aand Conly (2) BandE only

(3) Aand Donly (4) A,D andE only
r".’; ’

Given below are twd statements :

Statement I : lee nitrogen that can form

ammonia, arsenic can form arsine.

Statement II : Antlmony cannot form

antimony pentoxlde

In the light of the a_I_::gve statements, choose the

most appropriate answer from the options

given below :

(1) Both Statement I and Statement II

*  are correct vy :

Both Statement:1 and Statement II

are incorrect 'g

Statement | ié:c:_‘orrect but Statement II

is incorrect g

(4) Statement I isgincorrect but Statement II

is correct =

i
o]

2

(3)

Which among the following electronic
configurations belong to main group elements?

o iy 3 2
A. [Ne]3s Ik B. [Ar]3d 4s~
. g | :
C. [Krj4d'ss®sp3  D. [Ar]3d'%4s!
[

E. [Rn]5f%6d?7s%

Choose the corre?jfanswer from the option
given below : .

(1) B and E only
(3) D and E only

@) A and C only
(4) A, Cand D only

[ Contd...
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(1) 2 minutes

Dalton’s Atomic theory could not explain
which of the ﬁﬂ]m\;i_l}g?

(1) Law of conseryation of mass
(2) Law of constafi’proportion
(3) Law of l1'|ll|ﬁ])fl?§pl‘0p0|’ﬁ0|l
(4)’ Law of gascousivolume
Ty

Consider the fO][O\\Ei'lig compounds :
KO,. H,0, and H,80,.
The oxidation states of the underlined elements
in them are, respectively,
(1) +1,-1, and +¢ !
(2) +2,-2,and +q~y
(3) +1,-2, and +42
4) +4,-4, and +6q5,,

i
If the half-life (t,,)" ﬁ}r a first order reaction

is 1 minute, then the time required for 99.9%
completion of the reaction is closest to :

(2) 4 minutes
(3) 5. minutes {,{.54) 10 minutes
{7

The correct order ofsthe wavelength of light
absorbed by the folggwing complexes is,

A. [cp(NH3)6]3+g B. [CO(CN)GT"

2+T"§ ; 3+
C. [Cu(H0),] w4 D- [Ti(H20), ]
Choose the correct answer from the options
given below:
(1) B<D<A<C} (2) B<A<D<C
3) C<D<A<é3 (4) C<A<D<B

G -
Which one of the following compounds can

exist as cis-trans isogpers?

(1) Pent-1-ene iﬂ

(2) 2-Methylhex- -2t 8)16 c

3) Ll- Dlme'(hylcyclopropane
(4) 1,2-Dimethylcyclohexane

45_English ] 12
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60

61

Phosphoric acid ionizes in three steps wiy,
their ionization constant values

K“I' Khz
while K is the overall ionization constant,
Which of the following statements are trye?
A, Iogk Iogf( +lo;,l( +|0gK

and KﬂB' respectively,
LE )

|‘

B. }[3[)04 is a stronger acid than HZPO4
and HPO2 T

=
& Ka|>K"z K“s
(% K
Ka}n 2

D. Kal = -;_‘;‘2 _

Choose the corréct answer from the options
given below:

(1) A'and B only

(2) AandC oﬁryf

(3) B,Cand D?Qen]y

(4) A, Band C only

Which one of the following reactions does
NOT give benzcne as the product ?

(1) Qé_o Na sodahme

\/\/\ ‘*v‘*" Mo,0,

n-hexane  +3773K, 10 - 20 atm.

F

P Hi‘_rt‘,dlmllronTubc o
Gy BCROEY T aenK .

o (O ¥on o o

) '
If the molar {¢onductivity (Am) of 2

0.050 mol L sgfution of a monobasic weak
acid is 90 S emZThol-!, its extent (degree) of
dissociation will.be

[Assume A7 = 3459 .6Scm? mol~! and
AZ=504Scm?2 mral-I ]

(1) 0.115 ’(2) 0.125

(3) 0225 “), p;.215

;’”K; el o Cotie

"Ku-
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Given below are Lwo statements

Statement 1 : A(hypothetical diatomic
molecule with bond order zero is quite stable.
Statement 11 : As bond order increases, the
bond length increasts, ;
i s .

In the light of the ﬂbbve statements, choose the
most appropriate ”ih';wcr from the options
given below : |

(D Both Statement I and Statement 11

are truc i o
(2) Both Statement 1 and Statement Il
- are false

- (3) Statement 1 is trie but Statement II

is false L

'(4) Statement I is ﬁ;l‘se but Statement Il
is true 3
Ty

whlld

Out of the foliowmg complex compounds,
which of the c0mp0und will be having the
minimum conductam:c in solution?

) _Co(NH3)3 Cl3]

@ [Co(NH;), (312]

~ {_f‘g
(3) _Co(NH3)6JC\]§

e

@ [Co(NHs), C‘j‘?]

1{‘

Match List - I with: Llst 11

List-I v List-II
A. XeO, L.: sp3d; linear
B. XeF, II. sp?; pyramidal
C. XeOF, oII1. sp3d?; distorted
' ("3 octahedral
D. XeFg ¢ V. sp3d?; square

L{) pyramidal
Choose the correct answer from the options

given below : =
(1) AL B-I, C- l\f"D I11

(z)AIIBICI]IDIV
(3)AIVB]ICIIIDI
) A-]VB]I C-I, DIH

65

66

C(s) + 2Hy(g) —» CH,(g); A H==74.8 kI mol~’
Which of the following diagrams gives an
accurate representation of the above reaction?
[R — reactants;.PP — products]

Energy ;
(kJ mol-"y|

(n T

—> Reaction progress

Energy p
(kJ mol ™) I
| "R 74.8
(2) {7y

ey

—> Reaction progress

L0

—sReaction progress
S .

A

Match List - I with List - IT

List-I ' ”! List-I1
. (Example) (Type of Solution)
A. Humidity I.  Solid in solid
B. Alloys f‘ﬁ II. Liquid in gas
C. Amalgams .~ IIL Solid in gas
D. Smoke =y IV, Liquid in solid
Choose the corréct answer from the options

- given below :

(1) A-, B-1V, C?l, D-11I

(2) A-ll, B-l, QIV D-1I1-
(3) A-II, B-I, C-IV, D-II
(4) A-lI, B-II, C-I, D-l\’\

[ Contd...
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67 The correct order of decreasing basic strength
of the given ¢ 'unuu.:«, is :

(1) N- tnctlwlmulul}, benzenamine >
cthanamine > N-elhyluhmmmlm

(2) N- cllwluhmmmmc > cthanamine >
benzenamine!= N-methylaniline

3) N—clhylcllmlmn‘nnc > cthanamine >
Y N- mcthyhmh‘m. > benzenamine

(4) benzenamine > ctlmnmmnc >
N-methylamlme > N-ethylethanamine

68  Among the following, choose the ones with

equal number of qgé:ns.

A. 212 g of Na,CQOj (s) [molar mass = 106 g]
B. 248 gof NazO {5.) [molar mass = 62 g]

C. 240¢g ofNaOH (s) [molar mass = 40 g]
D. 12 gof Hy ( ){._molar mass = 2 g]

E. 220 g of CO,(¥)![molar mass = 44 g]

= L% .
Choose the correct answer from the options
given below :

_(1) A, B, and C only
(2) A, B, and D pnly
_&5) B, C, and D bily
(4) B, D, and E Galy |

< L
B - -

69  Match List I withList IL

List1 %7 Listm
(Name of :: (Deficiency
Vitamin) disease)

A. Vitamin B;, [ Cheilosis

B. Vitamin D 1’“’ II. Convulsions

C. ' Vitamin B, g7 Il Rickets -

D. Vitamin Bg 2 IV. Pernicious anaemia

Choose the corre:clgf answer from the options
given below : o

(1) A-l, B-III, C-II!D IV
(2) A-IV,B-llI, G-, D-lI
(3) A-IL B-III, C:1f D-IV

4) A-1V, B-1l, C-I1, D-I -

45_English |
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* electrons in a Cr%‘l';:’jlon (Z=24) is the same
i
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The correct order of; decreasing acidity of the

following aliphati¢ acids is :

(1) (CHy),CCOQH > (CHy),CHCOOH >
CH,GOOH > HCOOH

103
(2) CI] COOH = (Cllj)chICOOH >
(CHa)JCCOOH > HCOOH

(3) HCOOH > CH,COOH >
(CH3)2CHC(§QH > (CH;);CCOOH

(4) HCOOH > (EH;);CCOOH >

(CH3)2CHC00H > CH,COGH

l,:';-‘

f-: i

o
& h-p\-& 1 b
Given below are tWo statements :

Statement I : Ferromagnetism - is considered

as an extreme forq;r;a.;of paramagnetism.

1Y
Statement II : The number of unpaired

1
3+
as that of a Nd°* ion (Z 5-60) 24+ SO
ﬁg{i §4 ¥
In the light of the above statements, choose the
correct answer from the options given below :
(1) Both Statement I and Statement II
are true {7
(2) Both Statement'I and Statement 11
are false g . '
c-ﬁi
(3) Statement | 1§3t;uc but Statement 11
is false e
o
(4) Statement [ is false but Statement II
is true . o :;T-;,
A,
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Match List I with List 11

Al

List 1 i List 11
(Mixture) ') (Method of
s Scparation)
A. CHCIl, () . Distillation
CgHg NH2 Y under reduced
<t pressure
B. Crude oil in!f} II.  Steam
petroleum ¢~ distillation
industry v
C. Glycerol from 1. Fractional
spent-lye distillation
D. Aniline - water IV, Simple
o distillation

Choose the correct answer from the options
given below :

(1) A-IV, B-1I1, €1, D-II »

(2) A-1V, B-III, C-llI, D-I

L]

(3) A-lL, B-1V, G:1, D-II

¥

(4) A-IIL B-1V, G-II, D-I

*

For the reactiolh A(g)=12B(g), the

backward reaction rate constant is higher than
the forward reaction rate constant by a factor
of 2500, at. 1000 K.

[Given : R = 0.083] L atm mol-1 K-1]

Kp for the reactuqn}at 1000 K is

(1) 83.1
(3) 0.033

oy (2) 2.077 x 105
= 4 0.021

?i‘i
Gwcn below are two statements :
Statement I : Benzcncd:azomum salt is
prepared by the réction of aniline with nitrous
acid at 273 - 278'K. It decomposes easily in
the dry state. i :
Statement II : Insertion of iodine into the
benzene ring is difficult and hence
iodobenzene is preparec[ through the reaction
of benzenediazonitim salt with KI.
In the light of the &bove statements, choose the
most appropriatéanswer from the options
given below : {2
(1) Both Statement I and Statement I
)

are correct i
Both Statement I and Statement 11
are incorrect, .|
(3) Statement I is;correct but Statement II
4)

is incorrect
Statement | is incorrect but Statement 11

w

is correct

45_English ]
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How many products (including stercoisomers)
arc expected from monochlorination of the
following com!p(:nmd‘.’

HAC )
"CH-CFly —=CHj
Fé e
4
]
(2 (2) 3
(3) 5 (4) 6
F
i3
073
Among the givén compounds I-I1I, the correct
order of bond éfii%sociation energy of C—H bond
marked with *‘vi‘s :
."?
....;
v H
o
! 5 m
)
1) 1 I>I>I[I (2) 1=11=1I
"ns.?
(3) 11> 11> 4 H>1=>1
T8 -
Which one of the following compounds
does not decolourize bromine water?
[
; (o
@ (o)—oH:
\£
!’;‘?:
@ ()—cuyc,
-

[ Contd...
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Tl1c major product of the following rcaction
15 2
()
O M ;
(1) CHyMgBr

©)k/\:CN (excess)

[n"\ (ii) ]_II30+

N

C”a 011

)] ™" ~CN

Which of the following aqueous solution will
exhibit highest boiling point?
(1) 0. OerUrea '
2) 0. OIMZKN()3
3) o. 01MgNa2504
@ Oo. DISM' CgH 5,04
s .

Match Lisnt__:i I with List - II

List-I List-II
A. Haber process I. Fe catalyst
B. Wacke; oxidation II. PdCl,
C. W:Ikm.son catalyst III. [(PPh;);RhCl]
D. Zieglér'catalyst IV. TiCl, with
€ AI(CH5);

L
Choose the_correct answer from thc options

given be]ow
(1) A-l, B-II, C-1V, D-III
2) A-lI, BilI, C-I, D-IV

- (3) A-l, B-II, C-1II, D-IV

(4) A-l, B-1V, C-liI, D-II

45_English |
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82
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5 moles of liquid X and 10 moles of liquid y

" make a solution having a vapour pressure of

70 torr, th}wapour pressures of pure X and Y
i

arc 63 torr,apd 78 torr respectively. Which of

the Followmg is true regarding the described

solution? )

Lmt]
(1) The sgjyﬁon shows positive deviation.
(2) The sioi_l_"ntion shows negative deviation.

(3) The solution is ideal.

(4) The solutmn has volume greater than the
sum of Individual volumes.
{7}

-
-
Sugar ‘X’ &3

A. is found in honey.

; v
B. isa kn;;_t_t? sugar.

C. exists in @ and p - anomeric forms.

D. is laevorotatory. -
; %
bx L ]S . m

o
(1) D-Glucese (2) D-Fructose

3) Ma]tngie)l

19}
v

Identify th&“suitable reagent for the following
conversion.

(4) Sucrose

0O

@JKO(EHJ——) @’ B

ay @ L.%_tgiﬂm (i) H/H,0
@) @ Al[‘:"ﬂiau)z (i) H,0
(3) (i) NaBH,, (i) H'/H,O
(4) H,/Pd-BaSO, |

[ Contd..«
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Given below are lwo statements : one is
labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) 1 _~_~I undergocs Sn2
reaction faster than S e B

Reason (R) : lodine is a better leaving group
because of its large size.

I¢ll1c light of the above statements, choose the
correct answer from the options given below :
(1) Both A and R are true and R is the correct
*-1 explanation of A

(2) Both A and R are true but R is not the
correct explanation of A

A is true but R is false

A is false but R is true

)
&)
=

Tih_'lc standard heat of formation, in
k‘;é:glfmol of Ba2* is :

[Given : standard heat of formation of 02"
191i (aq) =—216 kcal/mol, standard heat of
crystallisation of

BaSO,(s) = — 4.5 kcal/mol, standard heat of
formation of BaSO,(s) = — 349 kcal/mol]

@) — 1285 @) —1330

@)+ 133.0 (4) +220.5

)

'_iiatal number of possible-isomers (both
:iggpclural as well as stereoisomers) of cyclic
ethers of molecular formula C4HgO is :

Gy 6 (2) 8

@) 10 @ 11

Identify the correct orders against the property
mentioned ;

A"y H,O0 > NH; > CHCl; - dipole moment
B2 XeF, > XeO; > XeF, — number of lone
::3 pairs on central atom

(g;, O-H > C-H > N-O — bond length

QJ} N, > O, > H, — bond enthalpy .
Choose the correct answer from the options
given below :
(1) A, Donly
(3) A, Conly

,(2) B, D only
(4) B, Conly

45_English |
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Higher yield of NO in
.N,z (g)+0;(g) = 2NO(g) can be

obtained at
[ L |

[AlT of the reaction = + 180.7 kJ mol~!]
‘.Al: higher temperature

B! lower temperature
|
Gl higher concentration of N,

D. higher concentration of O,

gbonse the correct answer from the options

given below:

\8_:) A, D only
‘éﬁ ) B:! Ca D On|}’ (4) A, C, D Only

L

1

Ifithe rate constant of a reaction is 0.03 571,

(2) B, Conly

how much-time does' it take for 7.2 mol L~!

concentration of the reactant to get reduced to

ﬁb mol L-12 e
i}; e
{Given: log 2 = 0.301 :

S = ) ¢y
W 6935 (2 23.1s" %
i &
@ 210s @) 21.0s

. i

i

Which one of the following reactions does
NOT belong to “Lassaigne’s test”?

¢

(9 Na+C+N —— NaCN
-
®

&
()
e~}
4
(4) 2Cu0+C T 2Cu + CO,

2ZNa+S§ ——
a X Na2$

NEI+X _T +NaX

-
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The complex 11 of mitochondrial clectron
transport chain is also known as

() Cytoclu‘on__ig.:hcl
.(2) Succinate _‘g;iélh)'drogcnasc

(3) Cytochrome,c oxidase
(4) NADH dehydrogenase

Ly

g
Polymerase chain reaction' (PCR) amplifies

DNA following-the equation.
(1) N2 =t ~(2):2°
(3) 2n+1- (4) 2N2

What are the potential drawbacks in adoption
of the IVF method?

High fataht}f risk to mother

Expensive' rgnstruments and reagents
Husbandf\ﬂi;e necessary for being donors
Less adoption of orphans

Not avallaq e in India

PDSS]bl]lt}’Lﬂlat the early embryo docs not
survive -

Choose the correct answer from the optlons
given below : ;

(1) B,D, Fonly -

2y A,C, D, Fgoin]y

3) A,B,C, Et!fcrm]y

4) A,B.C, E;-F only

What is the name of the blood vessel that
carries dcoxygenated blood from the body to
the heart in a ﬁ_-pg i o

(1) Aorta e

2) Pulmonarynartery

(3) Pulmonary vein

ApE R e

_(4) Vena cava

Which one of tﬂ?éf following statements refers

to Reductionist® Bmlogy""

(1) Physico- chemical approach to study and

understand llvmg organisms.

Physm]oglcal approach to study and

understand, lwmg, organisms.

(3) Chcm:cal approach to 'study' and
understand hvmg organisms.

)

(4 Behavioural approach to study and

understand living organisms.

18
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Given below are two statements ¢
Statement I ¢ In the RNA world, RNA is
considered the first genctic material evolved to
carry out cssenua[ life processes. RNA acts as
a genetic matcual and also as a catalyst for
some important biochemical reactions in living
systems. Béifig reactive, RNA is unstable.
Statement I1: DNA cvolved from RNA and
is a more stable genetic material. Its double
helical strands being complementary, resist
changes by ©Volving repairing mechanism.
In the light of the above statements, choose the
most appropriate answer from the options
given belov s :
(1) Both sta{ement I and statement II

Z are correct
(2) Both sLatement I and statement I

are incorrect

Statemeiit I is correct but statement II

is incotféct

(4) Statcm'éﬁit I is incorrect but statement II

is corréct : -

3

Epiphytes that are growing on a mango branch
is an example of which of the following?
,(1) Commensalism
(2) Mutualijs
3) Prcdatiﬁg
(4) Amensalism
CASEE
From the statements given below choose the
correct option :
A. The eukaryotic ribosomes are 80S and
prokaryotic ribosomes are 70S.
B. Each ribosome has two sub-units.
C. The two sub-units of 80S ribosome are 60S
“and 40SWhile that of 70S are 50S and 30S.
D. The twd'Sub-units of 80S ribosome are 60S
and 203%(1 that of 708 are 50S and 20S.

E. The two*sub units of 80S are 60S and 30S

and that'of 70S are 508 and 308.
A1) A B, é “are true
(2) A, B, D re true
(3) A,B, ]f,are true
4) B, D, E are true TR

[ Contd...
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Which one of the following is an example of
ex-situ conservation?

(1) National Park

(2) Wildlife S tlllLlll'\l)

(3) Zoos and botanical gardens
(4) Protected arcas ;-

Given below are (wa statements :

Statement 1 : The primary source of cnergy
in an ccosystem is solar cnergy. -
Statement 11 : The rate of production of
organic matter during photosynthesis in an
ecosystem is callcd net primary productivity
(NPP).

In the light of the ab"ov'n, statements, choose the

most appropriate an\\\cr from the options
given below :

0
5]

Aoy S
Both statement.].and statement II

are correct sy

Both statcmeng ;and statement 1]

are incorrect ..j -

Statement | is correct but statement 11
is incorrect : ;
Statement | is incorrect but statement II
is correct

fa—n\

i
Match List - I w:th*ljlst - 1L
List - 1 £ List - II
A. Emphysema 1.%2Rapid spasms in muscle
“idue to low Ca*
{{'body fluid
113" Damaged alveolar
#“walls and decreased
respiratory surface
I1I. Acute chest pain when

B. Angina
Pectoris

C. Glomerulo-

nephritis ..ot enough oxygen
15 reaching to heart
__jnuscle
D. Tetany - IV.-Inflammation of

_tgglomerull of kldncy. i
Choose the correct,énswer from the options
given below : T2

(1) A-1I, B-l, CIVDII

) A-ll, B-l, C-11, DlV

3) A-IlL B-1V, C-11I, ‘DI -

, (4) A-IL, B-I1I, C-1V, D-1

45_English |
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' jl) Whisky

3)

Given below are two statements : One is
labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) : Both wind and water
pollinated flowers are not very colourful and
do not produce nectar.

Reason (R) : The flowers produce enormous
amount of pollen ‘gtains in wind and water
pollinated flowers. 3

In the light of the above statements, choose the
correct answer from the options given below :
(1) Both A and R7are true and R is the correct
" explanation of A

Both A and R.a}c true but R is NOT the
correct explan'_%ttfion of A

(2)

A is true-but Ris false
A is false but:'ii' is true

3
“4)

Which of the following is an example of non-

distilled alcoholic beverage produced by yeast?
(2) Brandy
(3) Beer (4) Rum

- |
"\-1.’

Given below are t\ﬁf"d statements :

StatementI:Ina ﬂoral formula @ stands for
zygomorphic nature of the flower,
and G stands for :r;_[_'érlor ovary.

Statement II : In afloral formula @ stands

for actinomorphic nature of the flower

and G stands for superior ovary.
In the light of the abave statements, choose the
correct answer from the options given below :

(1) Both Statement:l and Statement 11
are correct {_%

Both Statement [ and Statement II
are mcorrect

)

Statement | |s correct but Statement 11
is incorrect ‘_,;

Statement I is incorrect but Statement 11
is correct

)
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www.medcollegedarshan.com



Med College Darshan

105 Streptokinase produced by bacterium

106

107

108

109

Streptococcus istused for
(n C
(2)
3)
)

Curd prodhiction
Ethanol pm&ucimn
Liver discase treatment

Removing‘clots from blood vessels
Ly '

-

Which chromosome in the human genome has
i

the highest number of genes?

(1) Chromosome X
(2) Chmmosomc Y

. (3) Chrommome 1

4) Chromosofiie 10
Rl

Which of the f}ﬁ]‘mvinﬂ statement is correct
Qi g

about location;of the male frog copulatory

pad ? s

(1) First and S&cond digit of fore limb

(2) . First digit of hind limb

(3) Second digit of fore limb

(4) First digit ofithe fore limb *

&y

Which one of fhe following phytohormones
promotes nutnent mobilization which helps in
the delay of leafisenescence in plants?
(1) FEthylene 7 (2) Abscisic acid
(3) Gibberellin; (4) Cytokinin »

While trying to find out the characteristic of a
newly found an imal, a researcher did the
histology of adu]t animal and observed a cavity
with presence qﬁ,mcsodermal tissue towards
the body wall biit no mesodermal tissue was
observed towardS’the alimentary canal. What
could be the po-‘fgﬁble coelome of that animal ?
-(D) «‘f'scc;(:Ic)n’iai,q{é"3

(2) Pseudocoejomate

(3) Schizocoelomate

(4) Spongocoelomate

45_English ]
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111

112

20

(4) A, BandD Only

Maich List - si',\:vith List - II.
List - I ¢ List - I
A. Head ©) I. Enzymes
B. Middle piece 1. Sperm motility
C. Acmsoméil_' I1l. Energy
D. Tail. ! IV. Genetic material
Choose the c(}:__r'_uject answer from the options
given below :
A1) A-1V, B-1II, C-I, D-II
(2) A-1V, B-lII, C-11, D-I
(3) A-IIl, Bf\ﬁcn D-I
(4) A-llI, BIl CI D-IV
(.".5
Given below are the stages in the life cycle of
pteridophytes.:Arrange the following stages in
the correct sequience.
A. Prothallus-stage
B. Meiosis in spore mother cells
C. Fertilisation
D. Formation of archegoma and antheridia i in
gametophyte. :
E. Transfer of antherozmds to the archegonia
in presence of water.
Choose the carrect answer from the options
given below 3
(I) B,A,D, E‘
2) B, A,E, CiD
@ D,EG, .Es. B
(4 E,D,C,B,A

Cardiac actw:tg of the heart are regulated by :
A. Nodal tissgp;

B. A specialéfjeural centre in the medulla
oblongata €

C. Adrenal m¥ ullary hormones
D. Adrenal cortical hormones

Choose the correct answer from the options
given below .4

(1) A,B and C Only .
(2) A,B,Cand D
(3) A, Cand D Only

133 ¢
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113 Which of following organisms cannor fix

nitrogen?

A.  Azotobacter B.  Oscillatoria
C. Anabacena D. Tolvox

E. Nosroc o

Choose the ¢ And i

| orrect answer from the options
given below: oo
«(1) Aonly
(3) B only

|
(2) Donly
4 EConly

)

114 Given below are twostatements :

Statement 1 : Transfer RNAs and ribosomal
RNA do not interact with mRNA.
Statement II : RNA interference (RNAI) takes
place in all eukaryoti\_cforganisms as a method
of cellular defence. qu

: £¥}
In the light of the aboye,statements, choose the
most appropriate answer from the options

given below : o)
(1) Both Statement I:and Statement I
are correct i} '

(2) Both Statemient I"and Statement II
are incorrect ¥
(3) Statement I is correct but Statement Il
is incorrect
(4) Statement I is incorrect but Statement 11
~ is correct . &

P
Ev}
=)

£l
coRI

In the above represented plasmid an alien piece

of DNA is inserted at EcoRI site. Which of the

following strategics wél,_lé,bc chosen to select the

recombinant colonics;?:} . .

(1) Using ampicillin,& tetracyclin containing
*  medium plate. ¢

(2) Blue color colonies will be selected.

(3) White color colgnies will be selccl‘ec‘l. ‘

(4) Blue color colonies grown on ampicillin

plates can be selected.

21
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117 Namc the class ol'cn;(;fqnc that usually ¢

3 . i d
116 Which of the following genetically engineere

organisms was used by Eli Lilly to prepare

human insulin? [
;'(_2) Yeast
((4), Phage
’.!‘..5

K. Bactcrium
(3) Virus

atalyze
the following reaction;:
S-G+S¥ » s+5*iG
Where, G —» a group other than hydrogen
S — a substrate
st o anolhcg;;ubstra:c
(1) Hydrolase r(2) Lyase
.(3) Transferase gf) Ligase

=

{18 Find the statement that is NOT correct with

regard to the structuré of monocot stem.

]

, (1) Hypodermis is ;)zfrenchymatous.

(2) Vascular bundles are scattered.
(3) Vascular bundles are conjoint and closed.
(4) Phloem parencé;ima is absent.

3

119 The correct sequencgﬁf events in the life cycle

of bryophytes is *’1

A. Fusion of anthe‘iézoid with egg.

B. Attachment of gametophyte to
substratum. ¢4

C. Reduction division to produce haploid
_spores.

D. Formation of sporophyte.
i I ;
E. Release Ofanth(E_E?ZOIdS into water.

Choose the corrcct@:ilswer from the options
given below : W3
(D' D,E,A,C,B St
@ B,EA,CD
.(3) B,E,A,D,C .LE

(4). D,E, A, B, C

| Contd...
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120 Which are correct:
A. Computed tomography and magnetic
resonance jmaging detect cancers of
_ internal organs.
B. Chemotherapeutics drugs are used to kill
non-cancerous cells
C. o -interferoh activate the cancer p‘ltlcl'lt‘i
immune System and helps in destroying
the tumour. i }
D. Chemothcrapz_éutic drugs are biological
response maodifiers.
E. Inthe case of leukaemia blood cell counts
are decreased.
Choose the correct answer from the options
given below: 0n
(1) Band D only*n ,2) DandE only
"(3) Cand Donly: (4) Aand Conly
Sk
121 Match List - I wnh Llst =1L
List - I “’f List - II
A. Centrc.amerf:E:;T ‘1. Mitochondrion
B. Cilium " IL Cell division
C. Cristae III. Cell movement
D. Cell membrane IV. Phospholipid
o Bilayer
Choose the correct answer from the options
given below : 3
(1) A-I, B-II, CAII, D-IV
(2) A-lI, B-1, C3{V, D-III
(3) A-1V, B-1I, Ci11, D-I
(4) A-II, B-1I, C-1, D-IV
] —a
122 Match List I with List II :
List I List II
A Ch]orophyll a I. Yellow-green
B. Chlorophyll‘b’ II.  Yellow
C: Xanthophy]lsJ I1I. Blue-green
D, Carotenmdsﬁ-) IV. Yellow to
LD} Yellow-orange
Choose the optiohiwith all correct matches.
(1) A-IIL B-1V,ICHI, D-1
(2) A-I, B-I, C-T1, D-1V «
(3) A-l, B-II, CIV, D-IIT
(4) A, B-IV, C-III, D-II
45 English |
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123

124

125

Find the correct statements :

A. In human pregnancy, the major organ
systems are;formed at the end of 12
weeks. (v

In human pregnancy the major organ
systems are formed at the end of 8 weeks.
In human pregnancy heart is formed after
one month ofgestatmn

In human pl‘cgmncy, limbs and digits
develop bythe end of second month.

In human pregnancy the appearance of
hair is usually observed in the fifth month.
Choose the correct answer from the options
given below :

m-g 0 @

~(1) A and E Only

(2) B and C Only
(3) B, C,D and E Only

,@ A,C,D andE Only

In the seeds of.cereals, the outer covering
of endosperm separates the embryo by a
protein-rich layer called :
(1) Coleoptile ..; (2) Coleorhiza
(3) Integument..: (4)' Aleurone layer
Which of the following' diagrams is correct
with regard to the proximal (P) and distal (D)
tubule of the Nephron.

WP bt D

iy N,q ¢ NaQl H,0 HCO,

3
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Identify the part of a bio-reactor which is used
as a foam braker from the given figure.

AV r
Y
.
W
= A .*.--I;

1§

.
L

\u__[g/‘D ';hi JI.

(1 A @l
3) D (5);;5_(:
e

Gwen below are tworstatements : One is
labelled as Assertion _;(A) and the other is
labelled as Reason (R):~

Assertion (A) : A t?“ﬁical unfertilised,
angiosperm embryo sac at maturity is
8 nucleate and 7-celled.

Reason (R) ‘The egg apparatus has 2 polar
nuclei.

ey
LR

In the light of the above Statements, choose the
correct answer from the&’é”ptions given below :

(1) Both A and R are trug and R is the correct
£ explanation of A 15-3
Both A and R are true but R is NOT the

correct explanatior of A

(2)

A is true but R is false
A is false but R is{yue

3)
C))

A specialised membr nous structure in a
pl’OE&r}'DtIC cell whlc%glwlps in cell wall
formation, DNA rcphcatmn and respiration is :
L{'} .
v
@) - Chromatophores 4

) Mesosome*®

(3) Cristae
4) Endoplasmic Reticulum

45_English ]
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129 Which of the following arc the post-

130

131

transcriptional events in an eukaryotic cell?
(43

A. Transport of ptesmRNA to cytoplasm

prior to ';plicing" J
A

B. RCmovaI of intrbnis and | Jomlng of exons.

C. Addrtion of mctl{lyl gmup at 5" end of
hnRNA - :
‘D, Addmon of adcmrjw resudues at 3" end of

hnRNA.

E. Base pairing cét}:two complementary
RNAs. "i"’i

S

' B .
Choose the correct aq’swer from the options

Yo

. given below : G
REE}
(1) A, B, Conly P
.(2) B,C,Donly ¥
. )
(3) B,C, E only
(4) C,D,E only
| 31
3] R .
What is the pattern ofiinheritance for polygenic
trait? O
te]

_(1) Mendelian inheritance pattern

. (2) Non-mendelian iiawcritance patterﬁ

' e
(3) Autosomal dominant pattern

(4) X-linked recessive inheritance pattern

)

vy |
Which one of the folloying enzymes contains

‘Haem’ as the prosth¢tic group?
W

=3

(2) Carbonic anhydrége
5

(1) RuBisCo

(3) Succinate dehydidgenase
(4) Catalase

[ Contd...
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132 Each of the following characteristics represent
a Kingdom proposed by Whittaker. Arrange
the following in increasing order of complexity
of body organization.

A. Multicellular heterotrophs withjcell wall
made of chitin. s la

B. Heterotrophs with tissue/orghii/organ
system level of body organizatidh. *

C. Prokaryotes with cell wall %\nde of
polysaccharides and amino zu;icg‘si"h i

D. Eukaryotic autotrophs with tissue/organ
level of body organization.* .4

E. Eukaryotes with cellular body
organization. &

Choose the correct answer from the options

given below : ; 5”?

() A,CEB,D (2).C EA; D:',..?'

(3) A,C,E,D,B (4 C,EA,BpD

133 Who is known as the father of Ec((;)l'fogy in
India? L;?‘

(1) S.R.Kashyap (2).Ramdeo N%:‘Era'
(3) Ram Udar (4) Birbal Sahni
134 Match List T with List II : _
List-T © List-II i+
A. Alfred Hershey I Streptbt!ﬁ'écus
and Martha : pneumoiffi%e
g
Chase 3] L
B. Euchromatin II. Densely packed
- and dark=3tained
C. Frederick Il. Loosely‘packed
Griffith and light%tained
D. Heterochromatin  1V. DNA as genetic
material
confirmation
Choose the correct answer from the.options
given below : bk
() A-I, B-1V, C-I, D-IIT. - #y]
(2) A-1V, B-Il, C-1, D-1II L2y
(3) A-V,B-IL C-L,D-lI- 0 D
(4) A-IIL, B-1L, C-IV, DI g

45_English ] (a 55
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135

136

137

Ncoplastic characteristics of cells refer to :

A. A mass of proliferating cell |

¢t

B. Rapid growth of cells {:i}

C. [Invasion and damage to the sqf;'r::,mnding
tissue ir}

D. Those confined to original location

Choose the correct answer from théjoptions

]
¥

given below:
() A, B only
(3) ‘A, B, D only

(2) A, B, C diily
(4) B, C, D only

Given below are two statements : {73

Statement I : The DNA fragments:;!é%(tracted
from gel electrophoresis can beZused in
construction of recombinant DNA. 1§3
Statement II : Smaller size DNA fragments
are observed near anode while largerifragments
are found near the wells in an agarose gel.
In the light of the above statements, ¢hoose the
most appropriate answer from the options
given below :

(1) Both statement I and state:men;J}I

are correct ET
(2) Both statement I and statemen‘t'-ﬂ
are incorrect _ £
(3) Statement I is correct but staterfent 11

" is incorrect w§

(4) Statement I is incorrect but stagt?ement 11
is correct - . R
55 |

Match List I with List IL

_ List T List 11
A. Adenosine [.  Nitrogen g;}se
B. Adenylic acid 1I. Nu0|eotid5:~;
C. Adenine I, Nucleosidé
D. Alanine IV. Amino adid

Choose the option with all correct atches.
(1) A-III, B-1V, C-I1, D-I o

(2) A-lIL, B-II, C-1V, D-I ;i

(3) A-III, B-II, C-I, D-1V *

@) A-IL, B-III, C-1, D-IV

[ Contd...
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Consider the following :

A. The reductive division for the human
female gametogenesis starts carlier than
that of the male gametogenesis.

B. The gap between the first meiotic division
and the second meiotic division is much

. shorter for males compared to females,

C.  The first polar body is'associated with the

. formation of the primary oocyte.

L.m‘ein_izfi_qg Hormone (LH) surge leads to
disintegration of theendometrium and
onset of menstrual bleeding.

C_hoose'lhe correct answer from the options
given below :

(1) AandB aretrue 773
(2) AandCaretrue. 7]
(3) BandD are true . ©.2
(4) B and C are true , }*

e
e F

s T

izl & i
All living members of the:class Cyclostomata
are: - .
(1) Free living
(3) Symbiotic

) ;;Endoparasite
(42 Ectoparasite

Given below are two statements : one is
labelled as Assertion (A) and the other is
labelled as Reason (R). ©_°

Assertion (A) : The prirf’n’ajry function of the
Golgi apparatus is to package the materials

made by the endoplasmic reticulum and

deliver it to intracellular t@_fgets and outside the
cell. &L .

Reason (R) : Vesicles containing matemills
made by the endoplasmic reticulum fuse with
the cis face of the Golgi apparatus, and they
are modified and released from the trans face

" of the Golgi apparatus. 3

In the light of the above sfé;?ments, choose the
correct answer from the options given below :
Both A and R are tru¢ and R is the correct

explanation of A ., -
Both A and R ar¢ t;}i_g but R is not the

(2) . ¥
-correct explanation Qﬂ:A

(3) A is true but R is false

(4) A is false but R is true

45_English |
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@
4

Match List I with List II :

~List I List II
A. Scutellum I. Persistent
¢v+  nucellus

B. Non-albuminous (Il. Cotyledon of
seed . Monocot seed

C. Epiblast “II.  Groundnut
D. Perisperm ‘IV. Rudimentary

' 1 cotyledon

Choose the option Wif.hi?if] correct matches.
(1) A-II, B-III, C-IV, D-I -
(2) A-l1V, B-lII, C-II, D-I
(3) A-1V, B-III, C-1, D-II
(4) A-11, B-1V, C-lII, DI
Given below are twoésiatements : one is
labelled as Assertion (.E&) and the other is
labelled as Reason (R)::3
Assertion (A) : All vertebrates are chordates
but all chordates are not'vertebrate.
Reason (R) : The mefﬁi:ers of subphylum
vertebrata possess notochord during the
embryonic period, the notochord is replaced by
a cartilaginous or bony vertebral column in
adults. 4 X
In the light of the above éitz;l_tements, choose the
correct answer from the:options given below :
(1) Both A and R are trué and R is the correct
. explanation of A e”?’ 3
Both A and R are %t;rzue but R is not the
correct explanation of A
A is true but R is @se
A is false but R is true

(2)
3)
4)
Identify the statement that is NOT correct.
(1) Each antibody-has“two light and two
heavy chains. iy

The heavy and light chains are held
together by disulﬁé?bonds.

Antigen binding:jis'zite is located at
C-terminal region qg?ntibody molecules.
Constant region of heavy and light chains

are located at C—tz:\!fminus of antibody
molecules. j ' :

2
3

[ Contd...
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144  Silencing of specific mRNA is possible via
RNAi because of -

+(1) Complementary dsRNA
(2) Inhibitory ssRNA
(3) Conﬁﬁjcmcntary IRNA
4) Noni—\:glbmplen'nenta:y ssRNA
=
Genes R and Y follow independent assortment.
IfRRYY] pmducc round yellow seeds and rryy

produce Wrinkled green seeds, what will be the
phenotypic ratio of the F2 generation?

(1) Phenotypic ratio - 1:2: 1
(2) Phenotypic ratio - 3 : |
<(3) Pherib‘iypic ratio - 9 : 3
(4) Phentypic ratio - 9 : 7
W
. 146 Histones are enriched with -
* (1) Lysme. & Arginine
(2) Leuqaqe & Lysine
(3) Phenylalanine & Leucine
(4) Phenylalanine & Arginine

145

% .

147 The ﬁrsté‘g‘tjenstruation is called :
«(2) Menarche
~ (4) Owvulation

(n Ment}“pause
3) Diag’,;”{.se

—-H

148 Match Llst.- I with List - II.

List:- ﬂ List - II
A. Heart? I.  Erythropoietin
B. Kidney II. Aldosterone
C. Gastro-intestinal IIL. Atrial natriuretic
tract ¥} factor
D. Adrenal Cortex IV. Secretin

Choose the correct answer from the options
given belpggg

(1) A-II«B-I, C-l1I, D-1V
(2) A- lV"'B 11, C-11, D-I
(3) A-l, B-lll C-1V, D 11
(4) AIIl BI ClVD]I"

45_English ]
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149 The protein portion of an enzyme is called :
(1) Cofactor
(2) Coenzyme
. (3) Apoenzyme
(4) Prosthetic group
L Pl
150 Whiél' of the following is the unit of
pr odﬁawlty of an Ecosystem?

(1) g
(2) KCal m™? f !
3) KCaIm -3

@ (KCaI m2)yr-!

151 Sweet potato and potato represent a certain
typem'”af evolution. Select the correct
combirfatlon of terms to explain the evolution.

(1) Agalogy, convergent
2) !—E mology, divergent
3) l:lomology, convergent
4) ﬁgalogy, divergent

s = ' e

152 WithitHe help of given pedigree, find out the
probability for the birth of a child having no
disease and belng a carrier (has the disease
mutation in one allele of the gene) in
F, ggn?ration.

w
D Unaffected male

. Aﬁ%ctcd male e
@ Cdrrier female
O UhalFected female

_ .7,
. A‘eie.}rclcd female A
Ty
(1) 1/ “2) 12
(3) 148 (4) Zero
[ Contd...
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Given below arc two statements : One is
labelled as Assertion (A) and the other is

labelled as Reason (R).:z

Assertion (A) : Cells ol he tapetum POSSCSS

dense cytoplasm 'md ;bt.{:tcmlly |'|._W(, more than

one nuclcm arn : W r;
Vs Sl g
' LI |

Reason (R) : Presence 0{' more than,one nucleus
in the tapetum Il]ClL‘.lSCh the efficiency of

nourishing the developmg microspore mother
cells.

In light of the above statements, choose the

most appropriate 'ms%ér from the options
given below ;

M

A‘rlg‘{-f

']
Both A and|R are lré?: and R is the correct
eaplanatlo,n of A

i "3
Both A and R are t‘r!.ie but R is NOT the
correct c:ﬁp]anauon -:jf' A

(3)
(4) A is false but R isi\]t:;ue
{3

o

S

How many meiotic andmitotic divisions need
to occur for the devei&pment of a mature
female gametophyte f'rom the megaspore

A 1s true bpt-R is false

mother cell in an. ang|05pcrm plant?

%

(3) 1 Meiosis and 3 M_il?sis 'e)

(1) 2 Meiosis and 3 Mitosis

1 Meiosis and 2 Mitosis

(4) No Meiosis and 2 Etosis
O3

Which of the followingﬁjs an example of a

* zygomorphic flower? {7

=4
(1) Petunia (2)1_4Dawra

(3) Pea (" (4) Chilli

45_English ]
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Afler maturation, in primary lymphoid organs,
the lymphocytes migrate for interaction with
antigens to qcc.ond*ir‘y lymphoid organ(s) /
ll‘;auc(q} like:

A, thymus B.

C. spleen D.

bone marrow
. lymph nodes

E.  Peyer's patches
Choose the correct answer from the options

© given below: (1 s
(1) B, C, D only

«(2) A, B, Conly
(3) E,A,Bonly (4 C,D,Eonly

Given below are two statcmcnts

Statement I : Fig Frult 15 a non-vegetarian fruit
as it has enclosed Fg wasps in it.

Statement II : Fig wasp and fig tree exhibit
mutual relationship as:fig wasp completes its
life cycle in fig fruit and fig fruit gets
pollinated by fig wasp:

In the light of the above statements, choose the
most appropriate answer from the options
given below :

(1) Both statement I and statement I

' ‘are correct

Both statement T"and statement I1

are incorrect {7}

Statement I is correct but statement I

is incorrect tﬁ

Statement [ is mcorrect but statement II

is correct W
T4

W

2
3)
)

What is the main fun;ctlcm of the spindle fibers
during mitosis ?
+«(1) To separate the chromosomcs
(2) To synthesize new DNA
(3) To repair damagéd DNA
(4) To regulate celli;r";fomh
L
Which one of the follgd\'ﬁing, is the characteristic
feature of gyrnnosperlgnts"
(1) Seeds are encloscd in fruits.
Seeds are naked i
Seeds are abscnt 4

Gymnosperms have flowers for
reproduction,

3)
)

[ Contd...
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160 Consider the following statements regarding
function of adrenal medullary hormones :
A. It causes pupilary constriction
B. Itisa hypEi:élyccmic hormone
C. It causes Hl‘“l_g)ercction
D. It increaseszstrength of hearl contraction
Choose the corréct answer from the options
given below : L)
(1) Cand D Oiily
(2) B,Cand D"ii)nly .
(3) A, Cand D Only
(4) D Only
&
£y

161 Why can’t msulm be given orally to diabetic
patients? ;(:} .
(1) Human body will elicit strong immune

response < :
‘(2) It will be' @gested in Gastm Intestma]
! (GI) tract ?“9
(3) Because of structural variation
(4) Its bioavailability will be increased
162 Match List I wﬁﬁ List I1.
List I E:} List IT_
A. Pteridophyte, 1. Salvia
B. Bryophyte"&z Il. Ginkgo
E. Angiosper,rg] III. Polytrichum
D. Gymnospermy IV. . Salvinia
Choose the option with all correct matches.
(1) A-lI, B-1V, C-1I, D-1
2) A-1V, B-lIl, C-1, D-II -
(3) A-III, B-IVyC-1, D-II
(4) A-1V, B-IIIYC-11, D-I
: L
&)

163 Who proposed thiat the genetic code for amino
acids should bewfiade up of three nucleotides?
(1) George Gdfmow*

(2) Francis Cr?ﬁi
‘(3) Jacque Monod
(4) Franklin Stahl|
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164 Match List I :m}th List II :

List I List 11
A. The Evil Ql.’mrtct [. Cryopreservation
B. Exsitu - II. :Alien.sr)ecics
conscrvatlon invasion
C. Lantanda =3 I1I, Causes of
camard 11 biodiversity
1 losses
D. Dodo 1 IV Extinction

Choose the option with afl' correct matches,
(1) A-IIL, B-II, C-I, D- v
(2) A-III, Bl C—II D-IV «
(3) A-Ill, B- IV C-1I, D-I
(4 A-III, B- I!;;C IV, D-I
L
165 Which of théfollowing hormones released
from the pituitaty is actually synthesized in the
hypothalamusw‘ﬁ .
. (1) Lutemlzlng hormone (LH)
(2) Anti-diuretic hormone (ADH)
(3) Follicle-stimulating hormone (FSH)
4)- Adenocorticotmphic:I'iormone (ACTH)
ﬁ’h TR
166 Role of thegmgvatcr vascular system in
Echinoderms js:
A. Respiration and Locomotion
B. Excretion‘dnd Locomotion .
C. Capture and transport of food
I8 Drgestlon "md Respiration
E. Dlgestlon and Excretion

Choose the correct answer from the optlons
. given below :

(I) Aand B Only
[2) Aand COnly-
(3) B and COnly
@) B,D and°E Only
€D

L

: O : g

167 Which of the.following type of immunity 1S
present at thgf ime of birth and is a non-
specific type of.defence in the human bod}‘r’

(N Acquired.lmmumty
;(2) Innate Immunity

(3) Cell-mediated Immunity
(4) Humoral Immunity

[ Contd...
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168 In bryophytes, the gemmac help in which one

169

170

171
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of the following?
(1) Sexual reproduction
(2) Asexual 1'eprodut':l"i0n :
(3) Nutrient absorptioh
(4) Gascous c'xchnngéi

| --..‘_33

In frog, the Renal port*ll system is a special
venous connecuon lhal*acts to link :

) e

Liver and intestine
(2)

3
(4)

Liver and kidney

Kidney and mtestme

Kidney and lower Jpart of body
2

Given below are two(ggatcmcms 4

Statement 1 In.ecosystem, there
unidirectional flow (of energy of sun from
producers to, consumers.

is

Statement I : Ecosystems are exempted from
2nd Jaw of thermodynamics.

In the light of the above statements, choose the
most appropriate answer from the options
given below : : ﬂj

(1) Both statement l-a fréhd statement Il

are correct :
Both statement lfimd statement II

"'1

;"“a
(2)
are incorrect _
Statement I is céﬁ:’cct but statement II
is incorrect 3

3)

“4)

is correct

Which of the follo?ung statements about
RuBisCO is true? e

(1) It is active only in; the dark.

(2) It has higher afﬂhity for oxygen than
carbon dioxide. <

It is an enzyme iiﬁf;olved in the photolysi;
of water.

It catalyze

3)

; .
@ s the é;rboxy]atlon_of RuBP.
Ed

45 English ]
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Staternent I is ingcdrrect but statement 1T

172 Which of the following enzyme(s) are NOT

essential for gene cloning?

A. Restriction enzymes

B. DNA ligase (2

C. DNA mutase =2

D. DNA recombinase

E. 'DNA polymera;;g}

Choose the correct answcr from the options
given below :
(1) C and D only &) A and B only
(3’) D and E only (4) B and C only

173 Read the following statements on plant growth

174

(1) « (alpha)

and development. {7}

A. Parthenocarpy ¢an be induced by auxins.

B. Plant growth regu]ators can be involved
in promotion as well as inhibition of
growth. i N
Dedifferentiation is a pre-requisite for
re- dlﬁ'erentlanon: .

D. Abscisic acid is azp]ant growth promoter.

E. Apical dominance promotes the growth of
lateral buds.
Choose the option with all correct statements.
.(1) A, B, Conly- 962) A, C, E only
(3) A,D,Eonly ¢4 B,D,E only
& :
Which factor is impdrtant for termination of
transcription? 3
1(2) o (sigma)
() p (tho) :;"SA) Y (gamma)

3

175 Frogs respire in water by skin and buccal

29

cavity and on land by skin, buccal cavity and

lungs. )

Choose the correct answer from the

following : o S

(1) The statement iS:true for water but false
for land Wl

(2) The statement¥is true for both the

# environment K}

The statement i$'false for water but true
for land v

The statement is false for both the
environment

3)

C))
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176  Twins are born to a family that lives next door

177

178

to you. The twins are a boy and a girl. Which
of the followmg mu-\t be true?

1)
(2)
3

They are mono:ryg,onc twins,
They are ﬁaic:ml twins.

They we1c;conce1vcd through in vitro
fertilizationy

They have 75% identical genetic content.
=y

“)

Which of the following microbes is NOT
involved in the preparation of housahold
products? i3

A. Aspergilhisl.;fﬂger

B. Lacfobacil?gs

i Ti*;chodern}a polysporum

D. Sacc!raromyces cerevisiae

E. Pr opmmbacﬁermm sharmanii

Choose the cofrect answer from the options
given below:

(1) A and B only
(2) A and C oiily>
(3) Cand D onfy
@4 C and E onl_y

g3
Match List - Lith List - IL
List-1 List - II
A, Proges;eroﬁg'! ‘1. Pars intermedia
B.. Relaxin II. Ovary
E. Melanocyte I1I. Adrenal
stimulating}ﬁémnonc Medulla
D. Cfitecholami'ﬁes 'IV. Corpus luteum

Choose the co[rcct answer from the options
given below : oy

(1) A-1V, B-II£€-1, D-III
2) A-V, B-11::§:-III, D-1
(3) A-I, B-1V, C-I, D-III *
(4) A-III, B-II, C-IV, DI

45_English |
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(€)

The blue and white selectable markers have
been devé€loped which differentiy,
recombinantcolonies from non-recombing,
colonies on thé basis of their ability to prodyc,
colour in the presence of a chromogeni,

substrate. *“

Given beIOW~§are two statements about thjs
method:
Statement I%"The blue coloured colonies haye

DNA insert in the plasmid and they are
identified as recombinant colonies.

Statement IIj: The colonies without blue
colour have DINA insert in the plasmid and are
identified as{fecombinant colonies.

In the light of f t?he above statements, choose the
most approprmtc answer from the options

given belowiﬁ
(1) Both Statement I and Statement II

are correct

Both Statement I and Statement II
are incorrect

Statement, I is correct but Statement Il

is incorréct
oh
Statemenf [ is incorrect but Statement I

is correct

(3)

“)

’
"Q::;'.f

o
Whlch onmof the following equations
represents the Nﬂ[’hUISt -Pearl Logistic Growth

» <of populatlon‘?

o $fE
N

(2) ——=ri¥

dt i N

1 BE

dN r—K
el | b
@ [ K ]
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